Year 3 home

WC: 7.12.20
Group 4

Please complete the activities in this pack and
return it to school to be marked and reviewed
when we return to school. Video links will be
added to the VLE on the school website.

If you need any help please contact your
child’s class teacher using the email address

below.

| min@ lokeside. d E W


mailto:admin@lakeside.doncaster.sch.uk

Maths

Watch the video Llink for each lesson and then have a
go at the sheets.

Lesson | - Subtract from [0 or 20.
https://vimeo.com /465728628

Lesson 2 - Subtract a one digit from a two digit no
crossLn.g.

No video

Lesson 3 - Subtract a tens number from a two digit
number.

https://vimeo.com /468561808

Lesson 4 - Subtract a one digit number from a two

digit number crossing ten.
https://vimeo.com /466497248
Timestables

Complete the sheet by counting in |0s.

Colour the numbers in the ten times table on the grid
and then use that to help you to complete the
qu.estLorLs.

When you are confident see how many of the
Timestable Rockstars questions you can answer in 3
minutes. There are 3 different sheets so you can try
and beat your score each time.


https://vimeo.com/465728628
https://vimeo.com/468561808
https://vimeo.com/466497248

LO - To subtract a one digit number from 0. (number Llesson |
bonds)

(Adapted success criteria- B squared)

Success Criteria Me Teacher
Represent the number 10 in numicon.

Read a subtraction question.

Use counters to take away a given number of holes.

Count how many holes are Left.

Extension- take away a number from 20.

Today [ worked I WS Today I worked using C P A
10 - 4 = ____ I0 - 5 = _____ 10 qg = ____
0 - 2 = ____ 10 - 7 = _____ 10 O = ____
Challenge

20 - 4 = ____ 20 - 10 = _____ 20 6 = _____
20 - Il = ____ 20 - 13 = _____ 20 |15 = _____
Draw a picture in your book to solve.

I0 - 3 = _____ I0 - 8 = 10 6 =




LO - To subtract a one digit number from a two digit lesson 2
number (no crossLn.g).
(Adapted success criteria- B squared)

Success Criteria Me Teacher

Read a subtraction question.

Represent a number in base ten.

Take away a given number of ones

Record how many ones are Left.

Record how many tens are Left.

Today [ worked I WS Tod,a,ylworkedwsmg C P A

Make a number in base 10 and then subtract the number of ones.

17 - 4 = ____ 18 - 5= _____ 23 - 2 = ____
26 - 5 = ____ 28 - 7 = _____ 38 - 5 = ____
63 - 3 = 76 - &5 = 89 - 6 =

I have 35 sweets and eat 4. How many are left?

I have 47p and I spend 5p. How much is left?

Now put your base 10 away and draw a picture to solve the
questions below.




(no crossi.n.g).
(Adapted success criteria- B squo.red.)

LO - To subtract a tens number from a two digit number

lesson 3

Success Criteria

Me Teacher

Read a subtraction question.

Represent a number in base ten.

Record how many ones are left after subtracting zero.

Take away a given number of tens.

Record how many tens are Lleft.

Today [ worked I WS

Today I worked using

C

Make a number in base 10 and then subtract the number of ones.

23 - 10 = ____ 35 -
34 - 20 = ____ 62 -
63 - 40O = 8l -

What calculation is represented?

Complete the number sentence.

10

Tens Ones

NN EEEN!

T 99

L6

10

60

Now put your base 10 away and draw a picture to solve the

questions below.

30




LO - To subtract a ones number from a two digit number

(cross'Ln.g 10).

(Adapted success criteria- B squo.red.)

lesson 4

Success Criteria

Read a subtraction question.

Represent a number in base ten.

Regroup a ten for ten ones.

Take away the ones.

Take away the tens.

Record how many are left.

Today I worked I WS

Today I worked wsing

Complete the subtractions.

a) 14-9 = d) 15-7
b) 14 - 8 = e) 15-9
¢ 17 -8 = f) 12-3

Complete the subtractions.

a) 31 -7 = e) 74 - 9 =
b) 46 - 9 = f) 64 -9 =
) 32-8= g) 54 - 8 =
d) 32 -3 = h) 41 - 3 =




Counting tn 10s

Cut out the numbers in the dashed boxes and stick them in the correct order.

____________________________________________

____________________________________________

--------------------------------------------

____________________________________________




10 Times Table Activities

Count in 10s and colour in the grid:

1 2 3 4 5 6 7 8 9 | 10
M |12 |13 |14 |15 |16 | 17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
31 | 32 | 33 (|34 |35 |36 | 37 | 38 | 39 | 40
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60
61 | 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70
n |72 |73 |74 |75 | 76 | 77 | 78 | 79 | 80
81 | 82 |83 |84 |8 |8 | 8 | 8 | 8 | 90
91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 | 100

Work out these answers:

a) 10x 2 =

b) 10 x 10 =

c) 10x 5

d) 10x 6 =

e) 10 x 12 =

f) 10 x 9 =

How many cubes are there? There are 10 cubes
per stack.

a)
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Name: Week 2 Session 1

: 2020-21
Times Tables 10 .
. Timestables for home
Rock Stars Times Tables 3 a week
Licensed to Lakeside Primary School, Doncaster
1 10x 2= 21 10x 9= 41 7%x10=
2 10x3= 22 10x10= 42  9x10= Time taken
3 10 x 12 = 23 10 x 9 = 43 9x10=
E— e E— 3 minute time limit &
4 10 x 12 = 24 10 x5 = 44 5x 10 =
EE— —_— —_— Score
5 10x 7= 25 10x 2= 45 9x10 =
6 10x2= 26 10x2= 46 10 x 10 = 00
7 10 x 3 = 27 10x11= 47 3x10=
—_— E— E— What's your rock status?
8 10 x 12 = 28 10 x 12 = 48 9x10 =
9 10 x 3 = 29 10 X 3 = 49 10 x 10 = < 18 correct in 3 mins
CARAGE RO<KER
10 10 X 3 = 30 10x 7 = 50 7 %10 = 18-19 correct in 3 mins
11 10 X 6 = 31 12 x 10 = 51 8 x 10 = 20-21 correct in 3 mins
T B T 4K&ER
12 10 x 4 = 32 6 x10= 52 12 x 10 = 22-24 correct in 3 mins
T T T UNPKNED A
13 10 x 10 = 33 10 x 10 = 53 11 x 10 = 25-29 correct in 3 mins
BRUAKTHROUGH ARTIZT
14 10 X 3 = 34 3% 10 = 54 10 X 10 = 30-35 correct in 3 mins
15 10 x 11 = 35 10 x 10 = 55 12 x 10 = 36-44 correct in 3 mins
HEADUNER
16 10x11= 36 5x 10 = 56 9 x 10 = 45-59 correct in 3 mins
17 10 X 8 = 37 4 %10 = 57 6 X 10 = All correct in < 3mins
Ro<k LEGEND
18 10 X 10 = 38 7 %X 10 = 58 6 X 10 = All correct in < 2min
19 10 x 12 = 39 11 x 10 = 59 1x10 = All correctin = 1 min
20 10x1= 40 3x10= 60 2x10=

©Maths Circle Ltd 2020



Name: Week 2 Session 2

Times Tables 10 2020-21
. Timestables for home
Rock Stars Times Tables 3 2 week
Licensed to Lakeside Primary School, Doncaster
1 10 13 10 25 10 37 10 49 10
x 8 x 10 X 7 x 1 X 6
- - o . o Time taken
2 10 14 10 26 10 38 10 50 10
x 7 x 1 X5 X 8 X 2
3 minute time limit &
3 10 15 10 27 10 39 10 51 10 Score
X 2 X 7 X 7 X 6 x 10
4 10 16 10 28 10 40 10 52 10 60
X 2 X 4 X 8 x 1 X 6
What's your rock status?
5 10 17 10 29 10 41 10 53 10
x 7 X 4 X 12 x 1 X 3
< 18 correct in 3 mins
6 10 18 10 30 10 42 10 54 10 AbarE BAdken
GARAGE RO<KER
X 3 x 11 x 1 X 5 X 8 R TV NN
18-19 correct in 3 mins
7 10 19 10 31 10 43 10 55 10 20-21 correct in 3 mins
X 6 X 8 X 7 x 1 X 7 4\1%‘;5&,
N*NNG IJ
- - - - . 22-24 correct in 3 mins
g 10 20 10 32 10 an 10 56 10 UNAAGNED ALT
X 7 X1 X5 X 6 X 4 25-29 correct in 3 mins
BRUAKTHROUGH ARTIST
30-35 correct in 3 mins
9 10 21 10 33 10 45 10 57 10 A IARART AT
X 8 x5 X 4 X 8 x 7 FUPPORT A<
36-44 correct in 3 mins
R R R R T HUADUNER
10 10 22 10 34 10 46 10 58 10 45-59 correct in 3 mins
X 4 x 8 x 12 x 9 x 9 ITJh %TA&
'7 V N V4 ¥ L
[ - - . . All correct in < 3mins
11 10 23 10 35 10 47 10 59 10 Ro<k LEGEND
X 1 X 3 X 8 x 10 X 3 All correct in < 2min
All correctin = 1 min
12 10 24 10 36 10 48 10 60 10 S
X 12 X 9 X 6 X 4 x 1 TUMES TABLES

©Maths Circle Ltd 2020



Name:

Week 2 Session 3

Times Tables
Rock Stars

Licensed to Lakeside Primary School, Doncaster

1

10

11

12

13

14

15

16

17

18

19

20

10 x 8 =

10 x 3=

10x 11 =

10x1=

10 x 8 =

10x 7=

10 x 2 =

10x 7=

10 x 4 =

10 x4 =

10x 11 =

10 x 4 =

10 x 12 =

10 x 9 =

10 x 5=

10 x 4 =

10 x9 =

10 x 4 =

10 x 10 =

10 x 9 =

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

10 2020-21
. Timestables for home
Times Tables 3 2 week
10 x 9 = 41 9x10=
10 X 4 = 42 4% 10 = Time taken
10 x 8 = 43 9x10=
- — 3 minute time limit &
10 x 9 = 44 11 x 10 =
— E— Score
10 x5 = 45 11 x10=
10x9= 46  3x10= 60
10 x5 = 47 9x10=
- E— Add up your time
Mi
10 x 4 = 48  3x10= ins
S1
10 x5 = 49 11 x 10 = S2
S3
10 x 11 = 50 8 x 10 = Total
8 x 10 = 51 2x10= Secs
S1
2x10= 52 1x10= S2
S3
4 x 10 = 53 10 x 10 =
- - Total
10 x10 = o 6x10= Add up your score
S1
1x10= 55 7 x10 =
- - S2
1x10= 56 10 x 10 = S3
Total
12 x 10 = 57 11 x 10 =
8 x10 = 58 3x10=
3 X 10 = 59 7 X 10 =
8x10= 60 10 x 10 =

©Maths Circle Ltd 2020



In this section you will find activities for reading, writing,
grammar, spelling and handwriting.

Writing activity: Write your own description of what you can
see in the chocolate room. What can you see, hear and smell?

Grammar activity: Use and to join sentences together and write
your own sentences using and.

Reading: Carefully read the text and answer the questions.
Remember to find the evidence in the text.

Spelling: Complete the spelling activities. Look carefully at the
spelling of each word.

Handwriting: Forming letters of the smile family and the
misfits and then letters that join with a diagonal joining stroke
and up to the top solid line to start the next letter.
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Using and to Join
Words and Sentences

The word and is very helpful.

We can use and to join two words, sentences or parts
of sentences together.

Using and helps our writing flow more smoothly.

Using and lets us add more information to a sentence.

Joining Words

Joining Sentences

The boys were good friends. They always played together.
The boys were good friends and they always played together.




Theo's Party

I can join two sentences using and.

1. Which sentences go together? Draw lines to match them up.

C Lots of people went to the party. j Z Theo blew them out. )

J

4 N\ 4 \

There was a cake with six candles. It was yummy.

. J . J

4 N\ 4 )
We played pass the parcel. He will be seven.

g J g J

4 ) 4 2\
. It is Farhan’s birthday next week. ) . They all had fun.

J

4 W d ) 4 J N\

. e ate party food. ) . ess won. )

Challenge:

2. Now join the two sentences using and to make a longer sentence.

a) Lots of people went to the party and

b) There was a cake with six candles and

c) We played pass the parcel

d) It is Farhan’s birthday next week

e) We had party food

x x *

W?. p!anit SPaG | Joining Words and Clauses Using and
*

» twinkl.co.uk *



Writing sentences with and

I can use and to write a longer sentence of my own.

1.

»

Use the ideas bank to help you plan your own special party.
Remember to use and to join together your ideas.

balloons sandwiches party games
cake friends dancing

singing pass the parcel musical statues
fun laugh birthday
card present

My Special Party

* *x
WE p!an it SPaG | Joining Words and Clauses Using and
*
*

twinkl.co.uk
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Tovic Overyi

Lesson | (RE)- Look at the information about

Christingles. What information have year
learnt? Use your learning to answer the
questions.

Lesson. 2 (RE)- Use the information that you

have learnt about Christingles to create your
own acrostic poem.

Lesson 3 (DT)- Design your own Christmas

treat. Look at examples of packaging that are
found around your home. What information is
included on the packaging? Design your own
packaging for your treat. Don’t forget to
include the product name and a list of
ingredients.
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—= Christingles

What Are Christingles?

Christingles are used by some Christians in church during
the time of Advent, to celebrate the birth of Jesus and Jesus
as the Light of the World. The word Christingle means
‘Christ’s light'. They are made using particular objects and
each one represents something special.

What the Christingle Represents

A Christingle begins with an orange, which is used to represent the whole world.
A red ribbon is placed around the outside of the orange. This is a symbol of
Jesus’ love and how he gave his life to save mankind.

Four sticks are stuck into the orange to represent the four seasons: winter, spring,
summer and autumn. The sweets or pieces of fruit on the end of the sticks
represent the fruits of the earth and the gifts people are given by God.

The candle is a symbol of Jesus as the Light of the World, and the Christian
belief that he brought light to the world with the love he shared with everyone,
regardless of who they were.

The First Christingles
Christingles were first used in 1747 in Germany. A | Did You Know?
bishop called Johannes de Watteville was taking a | The Children's Society
service during Advent and he gave all the children | helps children who do
who came a candle with a red ribbon around it. He | not have enough food,
wanted to give them a simple sign that reminded | shelter or care.

them of the happiness that can come from Jesus.

In 1968, Christingles were used in a church service to raise money for a charity
called The Children’s Society. Those Christingles were made using oranges,
sweets and sticks as well as the ribbon and candle which the bishop had used
before.

What Happens at a Christingle Service?
Many people go to a Christingle service in |f|
church at Advent. Traditionally, all the lights
are turned off and when people light their |f}
Christingle candle, they think about how the
birth of Jesus brought light to the world.

e
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—
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Christingles

Questions

1. What are Christingles used for? Tick one.
O to celebrate Christians O to celebrate Jesus’ birth O to celebrate light

2. Find and copy one word which closely matches the meaning ‘stands for’.

3. Match up these sentences.

The orange is a symbol of gifts from God.
A ribbon is a symbol of the world.
The sweets are a symbol of Jesus’ love.

4. Why is a candle part of a Christingle? Tick two.
Q Christingle means ‘Christ’s light'.

O Jesus appeared at night.
O Jesus was like the light in the dark world.

5. In what year were Christingles first used? Tick one.

O 1757 O 1747 O 1774

6. What did Johannes de Watteville give children at his Advent service? Tick one.

Q an orange with a candle in the top
O a red candle with a white ribbon around it
O a candle with a red ribbon around it

7. Why did he give this gift to the children at the service?

8. Why were Christingles used in 19687
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DT Designing
LO - To plan my biscuit.
Success Criteria Me Teacher

Choose my biscuit shape.

Label your decorations.

Record the LngredLen.t that you will need.

Think about any other equipment you will need.

make.

Make changes to the recipe to show what changes you will

Adapt the biscuit in a different way by combining the best
bits from different biscuits from the first attempt.

Hot

My biscuit design

Other equipment that I need.

Ingredients Llist
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